20178 SHAAIGAS BFRAA ATl L} 7 2ALY BEHE KA A}

1 Atoich At 49

-y Bl A E (%)
=Xt 3 5.2

Of X} 55 94.8
SHA| 58 100.0

T& oz I 4l E (%)
10CH 1 1.7
20CH 7 12.1
30CH 15 25.9
40rH 28 483
50LCH 5 8.6
60CH 1 1.7
70CH 1 1.7
SHA| 58 100.0
3. 1 HRE FostA 9 AVl FAdYrR
=] gz H M E (%)
AlE, BH0|X|, MLHX|, QIHU SS9 SEE 21 FOGH
21 36.2
| QiC}
HA Otz HAETH N0 20| BALD, X2 Ee 02 13 oy
o ATHE FOSHA E|ULE. '
SOAIX| DAL B HOIM O A TIESH= AIRCZE AR[ZO 5 34
W7 EHolstA AL '
SOAIX| AR B OM| A£KE ¢ X 7|20 AKE A 18 310
EXEM FHOSHA E|AULE '
7|ENEEHH 7| SohA, GUAZSTIHHE SsliA) 4 6.9

SHA| 58 100.0




4.8 Aol ofet AR 9 He

4-1 ol¥ w&o] HstoA =go] HASU}?

g Hl e I 4 E (%)
e o= 45 77.6
WIS ES 12 20.7
HE 1 1.7
A 58 100.0
4-2 W5 &2 A ALL & S A U
Te HIE I 4 E (%)
of < 2= 43 74.1
ChM 2 gt 11 19.0
HE 4 6.9
A 58 100.0

4-3 ZAoll o

1P

=& ojEsUL?

T a= H M E (%)
o2 THE 49 84.5
i o g s
=5 1 17
2 >8 100.0
4-4 W5 A2 AESASUIN?
T H= H M E (%)
Of 2+ = 42 724
SR e 1 -
=S 4 6.9
2 >8 100.0




R RER

s

He

bt

4-

1l E (%)

XA
—

od

I

79.3

46

Kir
ol

of

17.2

10

F

od

CHA =

1.7

1.7
100.0

F

od

TH

CHM 2

58

Aol g Be

=
a

QLat gAHEH wgo] JRAHCY of

SIS UE?

o}
_x_u

e

K

Kk

I M (%)

od

98.3

57

of

1.7

oL@

100.0

58

6. 71et o7

2 Wztg o7 sde

7|2 HOLEM B

=
=

F A|Zt0|0{R. Of0]

olJ

7l
W
<
)

LHo

0
- HORLE B2 Y|PVt FORSH

Atghu et

I

AtgtHct

3

N

L|C}.

ol
Kio
ol
%0

ol MEHoE MW THYS

=
—

=13
=

A

H LR =3 otE s Lt

b

.
[=)
[

ALEOl

1Bl

L|C}.

E
=



